> restart

=> SolGral == y(x) =C[1]-exp(2 x)-cos(3x) +C[2]-exp(2 x)-sin(3 x) + 5-exp(5 x)
SolGral ==y(x) =C, e?*cos(3 x) + C, e sin(3x) +5¢&°

=> DerSol == diff (SolGral, x)

DerSol := o
+3C, e cos(3x) +25¢

[ > DerSegSol := diff (DerSol, x)
2
DerSegSol := d—2 y(x)=-5C, e cos(3x) — 12 C, e sin(3x) —5 C, e sin(3 x)
dx

(x) =2 C, e cos(3x) —3 C, e sin(3x) +2 C, ¢ sin(3 x)

+12 C,e* ¥ cos(3 x) +125 ¢
:> Raiz = solve( {DerSol, DerSegSol}, {C[1], C[2]}) :

[ > Raiz[1]
1 5x
C,= " 39 2 ( 3 x) T cos(3 ( ( ]cos(3x) —75¢e " cos(3 x)

2
— 12 cos(3 x) (i )) +2 ( >yl )J sin(3 x) —375 ¢ sin(3 x)
dx dx

+ 5 sin(3 x) (%y(x)))

> Raiz[2]

1 d2 ‘ d
] R 3x) +2
2 39 er(sin(3 x) +COS(3x)2) ( ( d_x2 y(x)J Sln( X ( dx

B |

y(x)] cos(3 x)

+75 ¢ sin(3 x) — 375 € cos(3 x) + 12 sin(3 x) (% y(x))

d
+ 5 cos(3 x) ( . y(x)) )
[ > Ecua = isolate(szmpllfy(subs(C[l]=rhs(Raiz[l 1), C[2]=rhs(Raiz[2]), SolGral)),
diff (y(x), x$2))
& v d
Ecua = E y(x)=-13y(x) +90 e +4 (ay(x))

> EcuaOriginal = lhs(Ecua) — (— 13y(x) +4 (% y(x) )) =rhs(Ecua) — (— 13 y(x)

+4 (% y(x) ) )
EcuaOriginal .= d—z (x) +13 y(x) — 4 (i (x)) =90 ¢"
g Tl y y dx y

> SolGral
y(x) =C, e cos(3x) +C,e™ sin(3x) +5¢°
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> Comprobacion = eval(subs(y(x) =rhs(SolGral), lhs(EcuaOriginal) ) — rhs(EcuaOriginal)
Comprobacion :=0=0 )

[>



